
Read and understand all instructions and warnings prior 
to installation of system and operation of vehicle.

102 S. Michigan Avenue • Coldwater, MI 49036
517-279-2135 • www.bds-suspension.com

PARTS LIST
Description				    Qty.
5623 Cylinder				   1
Shock Cyl.				    1
BS58BK				    2
5/8”x.075x1.375 Sleeve		 1
5/8x.109x1.375 Sleeve		  1
U- Tie Rod Bracket			   1
5/16”x1-1/4”x2” U-bolt`		  2
5/16” Torque Prevailing Nuts	 4
¼” USS Washers			   4
3/8”-16x2-1/2” Grade 5 Bolt	 1
3/8”-16 Torque Prevailing Nuts	 1
3/8” SAE Washers			   2

INSTALLATION INSTRUCTIONS
1.	 Raise vehicle and support the frame with jack stands.

2.	 Remove the skidpan.

3.	 Install the supplied bracket using the 5/16”x1-1/4”x2” 
u-bolts nuts and washers supplied. Do not tighten at 
this time.

4.	 Install the supplied hourglass bushings and sleeves 
into the cylinder eyes with a bench vice, c-clamp or 
equivalent.

5.	 Attach the body end of the shock to the O.E. mounting 
bracket with O.E. hardware.  Turn the steering wheel 
full left till it stops. Extend the shock 1/8”.

6.	 Install the rod end into the steering linkage bracket 
and double check that the wheel is turned full left and 
shock is out 1/8”. Torque u-bolts on linkage bracket to 
15ft-lbs.

7.	 Perform a complete steering sweep to make sure that 
there is no interference. Reinstall skidpan.

#55411
Full Size Chevy
Steering Stabilizer

rev. 12/27/2005


